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Al 11,464,880
NAasSE dgotd 28 13,446,905 13,213,636 233,269
= 1,480,459
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Al 11,464,880
RES (A2 SUHIISSESA) 13,446,905 13,213,636 233,269
= 1,480,459
== 501,566
Al 11,464,880
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= 1,206,576
= 301,643
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= 1,206,576
== 301,643
01 2g & 3=H| 1,508,219 1,654,654 A146,435
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= 1,206,576
< 301,643
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= 273,883
= 68,469
307 212+01& 342,352 336,084 6,268
= 273,883
=S 68,469
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= 273,883
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801 oIl 10,000 10,000
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SIZ20II=EE3H AlHl RE= 11,454,880 11,075,506 379,374
308 AHXIEMSOIH 11,454,880 11,075,506 379,374
07 HXHH2LEES 11,454,880 11,075,506 379,374
O2A=2=SHIISEESH AlHl RE= 11,454,880




